000 "“54cC”
(495) 979-59-00
(901) 519-59-00

eds@eds-privod.ru

electrodrive systems

P . i
155
LBD
"_ TN
& i
SR o ] b -
-
i 1 . LT 35
| HH AA | el : E
18.5 1405 14 - ouTPUT
185.5 180 B
LD L 2B
| U | . T
L 110w
40, 115 -
5 |60 | !
} i
SR SIS e o B R g T
(3]
{_ = ERTE g
i
70 Lo '15‘!
an
130 I
155
LF
| UF | . )
T S l
5 | &0 L
\ : e C41 U
g{___ o e R < p1[pz[p3|G[T[s
} T FA [130[165[200[11[3.5[11
i — FB [180[215]250]14] 4 [13
70 Lo |
M...FD
MEA M...FD M..FA
"_ =T
]| ) |ac|H|H| L [w|aD| @ |LF|@B|R|AD|R|AD
C4123 [s1 |m 138 | 199 | 197 |491.5] 220 | 108 | 25 |5525] 28 | 103 | 135 | 124 | 108
C412/3 [S2 |M2S | 156 | 208 | 206 |519.5|235.5| 119 | 31 |5905| 34 | 129 | 146 | 134 | 119
C412/3 |S3 |M3S | 195 2275|2255 |563.5|251.5| 142 | 36 |6595| 41 | 160 | 158 | 160 | 142
C412/3 |S3 |M3L | 195 |227.5| 2255|5955 |251.5| 142 | 45 |686.5] 50 | 160 | 158 | 160 | 142
C412/3 |S4 |Ma | 258 | 259 | 257 |7035| — | 193 | 71 |8125| 83 | 226 | 210 | 217 | 193
C412/3 |S4 |MALC | 258 | 250 | 257 | 739 | _ | 193 | 78 | 838 | 91 | 226 | 210 | 217 | 193
Ca14 |S05 |[M05 | 231 |2455|2435] 524 | — | 95 | 27 | 590 | 28 | 98 | 122 | 116 | 95
ca14 [s1 |mi 138 | 199 | 197 | 553 | — | 108 | 28 | 614 | 31 | 103 | 135 | 124 | 108
Ca14 [S2 |M2S | 156 | 208 | 206 | 581 | — | 119 | 34 | 652 | 37 | 129 | 146 | 134 | 119
Ca14 |S3 |M3S | 195 |227.5|2255] 625 | — | 142 | 39 | 721 | 44 | 160 | 158 | 160 | 142
C414 [S3 |M3L | 195 |227.5|2255] 657 | — | 142 | 48 | 748 | 53 | 160 | 158 | 160 | 142




000 "54cC”

electro drive systems (495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru
P 80
= N 5"
560, - 10 b8
| - ;
gl =t ——E=at - -t H—a 8 --
L]
70 |1 H | § ||, | Mi0xz2
T I - ' 3 35 kg
195 |, 1495 | | [ 5; OUTPUT
1BE.5 180
LD 216
154
p 11017 A (pe3y
n 40, ,, 1.5 X A5, i)
|t M2 He 4
¥ -in—..
- i
g = 4 ,'J/’I 3
= o| ™ sTRL 01
] b
RTS - 3, 1 i+
", HA ) | fm
I5ﬁllll -
"III M E7
130 Nz
155 Ll
P INPUT
m [~
5 | 60
c41_ U
ﬁl' | = | | S8 D1|D2|D3|G|T|S
=
| FA |130(165(200)11 [3.5) 11
k FB |180(215|250|14| 4 (13
70 I N3
LD |
7] I b | M | M | M2 | N | Nt | N2|N| Na | X | P | A
C41 213 | P63 2355 11 12.8 4 140 15 95 — MBx19 4 336.5 27
c412/3 | PT1 2355 14 16.3 5 160 130 110 — MBx16 | 4.5 |[3365| 28
C412/3 P80 2515 19 21.8 (5] 200 165 130 — | M1Dx12 4 356 29
C412/3 | P30 2515 | 24 27.3 8 200 165 130 —  |M10x12 4 356 29
C412/3 |P100 — 28 3.3 3] 250 215 180 — |M12x16 | 45 366 33
C412/3 |P112 — 28 31.3 8 250 215 180 — |[M12x16 | 45 366 33
C 412/3 |P132 — 38 41.3 10 300 265 230 16 14 5 402.5 35
C414 |PB3 — 11 12.8 4 140 1S 85 — MEx19 4 395 30
c414 |PT — 14 16.3 5 160 130 110 — MBx16 45 395 3
C414 |P8BO — 18 21.8 ] 200 165 130 —  |[M10x12 4 4145 | 32
C414 |P90 — 24 27.3 8 200 165 130 —  |[M10x12 4 4145 | 32
C414 |P100 — 28 31.3 8 250 215 180 — |[Mi2x16| 45 [4245| 36
cC414 |P112 — 28 3.3 3] 250 215 180 — |Mi12x16 | 45 |[4245 36




electrodrive systems

E
Peo

000 “a24ac”
(495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru

38

10 ha

MADu22

35 e

OUTPUT

\"\-\.
130

223

18

c4a1u
D1|D2|D3|G|T|S
130[165]200[11[3.5 11
180[215]250[14] 4 |13
= P -

_ i D | M | M| M2 | N | Nt | N2 | N | X | lax@y O
C414  |SK6OA | 102 | - 28 | 4 | 82 | 75 | 80 [WBxi0| 35 | — [ 370 | 31
Caia  [SKe0B | 102 | 14 [ 163 | 5 | 82 [ 75 | 60 [Mbx10| 4 — [orr [ 32
Ca14  [SKBOA | 115 | 14 [ 163 | 5 | 90 | 700 | B0 [Mexi2| 4 7 Y.
Ca12/3 [SKBOB | 120 | 14 [ 163 | 5 [ 96 | 100 | 80 [Mexi2| 4 | 3565 | — | 20/09
Ca412/3/@ [SKBOC | 120 | 10 [ 218 | 6 | 06 | 100 | 80 [Mexi2| 4 | 3565 [ 418 [20/29/32
Ca12/3/4 [SK95A | 130 | 14 [ 163 | 5 1102 | 115 | 95 [Maxip| 4 | as65 [ 418 [29/79/3)
C412/3/4 [SKO5B | 130 | 19 [ 218 | 6 [ 102 | 115 | 95 [M8xi2| 4 | 3565 | 418 [29/29/33
Ca412/3/4 [SKO5C | 130 | 24 [ 273 | 8 [102 [ 115 | 95 [Msxia| 4 | 3565 [ 418 [29/20/36
Ca12/3/4 [SK110A| 150 | 19 [ 218 | 6 [ 120 | 130 | 110 [Maxip| 5 | 3565 [ 418 1297936
C412/3/4 [SKI10B [ 150 | 24 [27.3 [ 8 [ 120 [ 130 [ 110 [M8xi2| 5 | 3565 [ 418 [20/29/36
Ca12/3 [SKI30A| 188 | 24 [o73 [ 8 [ 142 | 165 [ 130 IMI0x0] 5 [ as65 [ — | 31/31
Ca12/3 [SKI30B| 189 | 32 [ 553 [ 90 [ 160 | 165 [ 130 IMI0x20[ 5 [ 403 [ — [ 3333
Ca12/3 [SKIBOA| 240 | 32 [ 353 | 10 [ 192 | 215 | 180 Mid9 5 | 403 | — | 33733
C412/3 |SK180B| 240 | 36 | 41.3 | 10 | 192 | 215 | 180 IMi2¢18] 5 | 403 | — | 38/38

Y P -

_ D |4 wmt |D|E|F |G |mM|NINI|N2| N4 |X 23x Qylax | B
C414  |SC60A | M6 15Nm[102] 7 [12.5(12.5] 11 |82 |75 [60 [Msxi0]4 | — | 397 | 32
C414 _ [SC60B | M6 15Nm[102] 7 [12.5(12.5] 14 |82 | 75 [60 [M5x10[4 | — | 397 | 33
Ca14  |SCBOA | M6 15Nm[115] 6 [12.5(125] 14 |90 [100]80 [Mexi2[4 | — | 307 | 33
C412/3 [SCBOB | M6 15Nm[120[15.5[14.5[17.75] 14 | 96 [100[ 80 [M6x12| 4 | 380 | — | 30/30
C412/3/4_|SCBOC | M6_15Nm |[120[15.5/14.5[17.75] 19 | 96 [100| 80 [M6x12 | 4 | 380 | 4415 [30/30/33
C412/3/4 |SC95A | M6 15Nm[130[16.5] 15 [17.75] 14 [102[115] 95 [M8x16| 4 | 380 | 441.5 [30/30/34
C412/3/4 [SC95B | M6 15Nm [130[16.5] 15 [17.75] 19 [102[115[ 95 [M8x16| 4 | 380 |441.5 [30/30/34
C412/3/4_[SCI5C_| M6 _15Nm [130[16.5] 15 [17.75[ 24 [102[115[95 [M8x16| 4 | 380 | 441.5 [30/30/35
C412/3/4_|SC110A | M6 _15Nm|[150]16.5] 16 [17.75 19 [120[130 [110 [M8x16] 5 | 380 | 441.5 |31/31/39
C412/3/4_|SC110B | M6 _15Nm [150[16.5] 16 [17.75[ 24 [120[130 [110 [M8x16| 5 | 380 | 441.5 [31/31/39
C412/3 |SC130A | M6 15Nm|188] 19 | 16 [17.75] 24 [142[165[130|M10x20[ 5 | 380 | — | 32/32
C412/3 [SC130B| M8 36Nm[189] 20 | 17 [17.75[ 32 [160[165[130|M10x20[ 5 | 426 | — | 36/36
C412/3 |SC180A | M8 36 Nm[240] 20 [17.5[17.75] 32 [192[215[180 M12x24[ 5 | 430 | — | 36/36
C412/3 |SC180B | M8 36 Nm[240] 20 [17.5[17.75] 38 [192[215[180 M12x24[ 5 | 430 | — | 38/35




OOO \!3ﬂcﬂ"

electro drive systems (495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru
A 80
n 70, B e 156
B0 | Fd| F3 NP L
'| | ) .
]
e B - I RN P
2 & ||| wioxe2
: gl [ r el
195 | 1495 | 14 ® OUTPUT
1865 180 o
216
~ &
70 B LE 110
u 40, 1125 F4) F3 s
sl | : F2ne
B m— . .
w I ﬁ._ = = é: r— i b s
[ o = = ™ 1
‘@ ] Lty
- SR L ]
ﬁ"'""&! INPUT
an
130
155
- A
m 70, B ‘_idE__
5 Fd| F3 G
B ‘— . )
THIR cC41_ U
e e S R E— s L Y1 I D1|D2|D3|G|T|S
a - | ) ! N [Fa[130]165/200]11]3.5] 11
£ “m) & -
* FB [180(215[250(14| 4 |13
T 155
4] | B A B £ F F1 F2 | F3 | F4 v &
ca12 4255 | 3055 | 50 24 27 8 25 45 | M8x19 | 30
C4#13 |HS 4255 | 3055 | 50 24 27 8 25 45 | Mmex1g [ 30
cals 448 338 40 19 215 6 25 35 | M6x16 | 33




